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CHM(OZ..S' Exam 2 Review Solutions 8/2/20 Summer 2020

Convert 200,\45 ® q

200mgq x —+2 = 0.2004
3 103mg

()45 of Asu)(0.752 7) = 02004
( Xgof Agu) = O 2009 (0.7527)

)”73:;'/&10\ ~ o. z%ﬂ

sodium Pblcarbonate

&l NaHcos
Iir\o( total mass'
Na + H + C + 30

(22>qqslmol)+(‘~oagjfml)+ C/Zuol /mol) + 3(/6.00ﬁ/mo)> = 8Y, 0/3/»10/

moss of Oin Compound
% Mmass of O = total wrass of‘-comyourzd (00 =

4 8g/mol
- —————————-’——‘gqgg/ﬂ';;a/ x (00 = [ 5714 7%

Use mass of CO2 and Hz0 fo ,ffr\d how Mmany 3rams of Cand H

| pkre in the unknown compound sample fo find ©. (we can't easily
Fell 0 from COz and Ho0 because Combustion involves reacting
Wwith 02 hich could end wp in sur /Oroolucfs)

26.76g Hp0 , _(molHaO 2ol H 2 97 35mal W faH 2.97334

/8’5 Ho 0 ! molH, 0 T Umol M
1 Z.0!
19626402 _Lmel 02 (Mol C (459441036 molc , FBgc 48 53.56q
U‘/.O/g Co, /M0/C04 T Inol C -
c8 42
mj sample = (mass H + #£%wmassC + mass O)

68.47 i, g9
By - 297339 H — 53,564 C ~ X q O — BHAFY O in sample

now find moles of C, HO and divide bﬁ the smalles’ of the 3,
U°. 97

H: 2.7733mo//g. 7432456/ 2mol = ¢ mjo,‘ (md O = 0. 7432¢/5¢) 2 pr 0
L YU.4s94%(03¢ Mo///ﬂ_ 742205612 mol = b 1630

0 : GBIE. 0. 74 3245C1 200l /0,74 3245620l = |
empurical formula CeHyO Fo gef rolecular formule, divide +he
y g .
I(Vlown molar nass Ag HL‘- mezl'r:‘ca/ Formu[a‘s molar mMmass bgﬁfhe fau‘or

4,12 72.06¢ c = ;
(8 %{/ 205&:"#40 2 so Sdoﬁ:r?:ﬁ%gz+ /
o - CAC



@ 526/ _imol A BmolHa | 0.2891 mol Ha
26-??3#*' 2 mol Al

less H’z
e preduced
6.13 NaOH [mol NaOH _ 3mol Ha | 0.2 288 mol Ha
37.‘793 NaOH Zmel NaoH NaZT—l was
Hhe limitin
f‘eadomLB

Imol Ho
a collected (actual)
Yo yreld = Hheovelical sn‘c\d

s "'353/0.14576j x o = [ 76.¢ %0\

x (00

' * 68.45g/mol
@‘ Cl’lIOr?ﬁg acid s ”c‘02 ~ous —>»-ite
> chlorite ion  CIO,” ~le —» - ate

4yo. 33 HCIOzg " [mol Hclos - Zmol O " €.022x10%2 4 omms of O
65.459 Hclo, Imol HClo, el O

_ (1) combinationimolues f»ak\‘r\g fwo or more e\menks/compounds
@ and forming @ 9:‘nste Substance in this case H.0.

@ combustion »a(waSS involves reacting an organic substance
with Oz fo yield H,0 and C0,. Also iF Fhere's evero
reactont or produck thats by iFsel £ (ke just a_metal Solid
like Na(s) or a diatomic jike §02g)) its always gonna be

o redo x}

(3 Its a combination rxn but a true ppt reacHon must form
an insoluble salt; MgCla(s) is actually soluble when you
(ool at your selubility cules o nofhing wilk precipr tat

¢ () Brpnsted-Lowny Add Buse cackons simply invole transioming
| hadrogens From one reactant (acid) 1o the other (base) ’




(.'5> 777(’5 s boH\/ since (Ca30y(s 1Is achAa\lj insoluble,

lhis counds as a ped. mxn.

orent

U) w HNL pve{-ixes I ke dr- or mono- or rey -
used for ifonic compounds like Ni(0H)2, onL:S for covalent c.omPounds

L2 should be nickel (IT) hgdroxiou—
(2 Ca is not & tranciHon medal so it never needs a (1) indication
Cr chould ke calcium caclonate
(3) Hhough i is covalent, i He (irst atom 15 just one, you
don + pneed o put mono = in Frontof it

tr should be carbon monoxide
H  remember your 'ool:ja&omicsl —ouUs endu‘ngs are ;or
polyatomic iens Hak end in —ite. CIO4 is perchlrate so
Ly Haoy should be Fcrd«‘or_i_g acd
(5) Correct! anions |ike s¥ o, F. B3 I oc 07 dont heed ieisa-

an:j pre fAxe suwhen in lonic compounols_

3FCC'ZCAQ)
i + 2 K, POy @g) — Fe?,(POq)Z(s) + 6 KC| caqd

3F"—z+caq> + é/Qi/aup ;3 6[(23), ZFOqszqg),—’@’Fe_;(POv)z(SH G‘K;m(]l + é,Cl’;ag)

PF&Z'F(“]) + 2[704'3—(@) — Fés(?Oq)z(S)!

@ Ground-Stote of cu” LArl 4s' 3d'°

“ for cr, Mo, g,,and Ag, Hheir conﬁ‘gurahbns Jake 1 s electrong,

and puts it in the d orkital.
Cut loses 1 electron, remember when you remove electrons

from transibion mekals, You remove from He s orkifals before

e d orbitals. _
JCu : [AF] 340

S50




@ The neutral atom that bits Hha cong‘ﬁamh‘on ijE siner i+S
n He 3p orbikdl andd has 6 electrons in . Se thats
wh3 it fite with Hw 3p¢ descriprion.
The cation with a g:‘njle C‘erge,e means Its m:‘ssmﬁ one
electron. So@odoufo( also showe the same conﬁ‘ﬁufczﬁ‘on
since fs Hs' eclectron is removed and fthen its only | eS+
with electrons in Hwe 3P orbital [flte Ar,
The anion with a single c/zarg,& means it /’Laé gained an
electron and se 1§ would also [i sipce it goes fcom

3p” to 3p° like Ar when it gains an eleciron.

@; IE incveazes — and 1T se eac_lf\ofvh‘or\ looks ‘nfiHmar<az
@_like i+ wort work except O has alewer TE Yhan N since it
doesnt bollow bhe drend. B AL G, S all have lower TEY

Han Ha element belore it



—~ mass of solute
0, i o
@ /° m/m 5 mass of solution B

@

(5

moles of solute

E MO[ar\‘l—j iS ' volume of solution (in v

947% —=> "‘7j

so \jus\— convecrt % into 9ram5

Y7% m/m IBoFropano( 'n aceton€

v

i 4Tgiso. + 535 acelone rem
lo w fhis into M,
l) we need o Fwra Hhe ‘-OP into moles Hen
2) fun H\eg of solwtien inte L & =sovluron .
2 divide
) Y7g iso. o [mol iso. _ 0.7%2) mol isepcopane)
60.13 is0.

2) use dansities o find volumes

:.47ﬁ iso. [ vl R (L _ 0.65987 | S0.
07859 js0. OFmL

539 acelone & I mL % L - 0.067 L axtore

0.7 g atone tocormL

3) 0. 782} mol iso.
i S 16.16m
(0.0598TL ise. +0.067L acebone) i

Haoo(2) + /VHlff(Qf/ = Hgthq) * NHgfmf)
L—V-—/ \_\,_,
Cdn\jasode conjugole
ac| base

molor rmase oﬁ [ackc acid
) (3% 12019 + 3 x 160054 € X1.0089) = 70.087 /o]

{ - 23
L’Zg x .____h.«_@L_ 4.0225 10" ‘molecules of lackic acd
Pal
?0.053 I Mmool

‘% ‘f7ﬁ iso. \
emlber (= ™Mmass of solution

alss we know acetore becawse UT+S3=1007

(needs foadd 4o (00)




@ C3Hg +502. —>4r20 + 3CO,

D 273 Propane __"'_""J.ﬁ’_'i"f'“’“ . Y mol Hz0
’2'- L('-/. 0?3‘;(3’“"_‘_ [W\df F’opam

= Q-L"g—mel H- O

{2 moles Oz)( Y el H.0 _ (.04 mel H7 0 o~ Oz is h’menj

-

S—Mol 02
(04 mol HoO ($gqH20 = (6725 1p O
{ ol H20

: MV, = MV,

) (5.om)(3omL) = (0-t50m)( V2)
Vz "-(I,d()c)ml. or ig

.2> (0. csom) (1omL) = ( Mz)(IOOmL)
rLM'z_: G.OIS'M&

7o yletd = " 25/8.723 »x (0O = %8’5%A
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